00 050

10

( ¢ - ) Js={C -y - )2
C - ) = - Y - )2)

cllsgL =" "
Cells(1,2) ="

Cells(L, 3) ="x"

Calls(L, 4)="y"
CalsL9="x" |
Cells(L ) ="Y"

Cells(1, 7) ="

Cells(L, 8 ="u"

Cals(L, 9 ="v"
Cdlg2,2)=0 /
Cells(2,3) =0
Cels(2,4)=0
Cells(2,5) =0

Cells(2, 6) =50
Cels(2,7)=01
Cells(2,8) =6
Cels(2,9) =10
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Cdlg1,2) =" Cdlg4,8) ="
Cdlq1, 3)="x" Cdld4, 9):
Cdig1,4)="y" Cdl 41)
%I 1,5 ="X" CeII 58)= é%ll cl
1,6)="Y" 59 58 2,7)*2
Cdl 1,73:" §5 1%)) CeISI](S(S %3) Celsl(s(27)7)
Cdlq1,8)="u"
Cdlq1,9) ="v" Cdlq7,8) ="
Cdlg2,2)=0 Cdl 7,9:
s g
I5(2,4) = ,8) = 0.
Clsa.9=0 28923
Clls2, 6) = 50 Cdlg8,10)=1- CdI«(8, 8) - Cel«8, 9)
Cdlg2,7)=0.1
Cdlg2,8)=4
Cdlg2,9) =5
Do Emono: ( )
' Cdlgn+1,1)=n
n=n+1 Cdlgn+1,2)=Cdlgn, 2) + Cdlg2, 7)
GoSub Emono Cdlgn+1, 3)=Cdlgn, 3) + Cdlg2, 7) * Cdlg2, 8)
If (Cdlgn + 1, 6) <=(1- Cdlg8, 8)) * Cdign+1,4)=Cdlgn, 4
Cdlg2, 6)) Then a= (Cells(n 3)- Cells(n 512
f=1 b= (Oells(n 4)-Cdlgn, 6)) "2
End If c=a+b
Loop et =0 Cells( ) = Cels(n, 5) + ((Cells( OeIIS( )
n+15 n,5) + n,3 n, 5)) *
' Sg UM Cd?S( Sor(c)
f=0 Cdlgn + 1, 6) = Cdlgn, 6) +((Cells(n 4) - Cells(n 6)) *
Do Cdlg2, 7) * Cdlg2,9)) / Sar(c)
n=n+1 Return
GoSub Emono_yosou
If (Cdlgn + 1, 6) <= (1 - Cdlg8, 8) - | Emono_yosou:
Cdlg8,9)) * Cdlg(2, 6)) Then Cdlgn+1,1)=n
f=1 Cdlgn+1,2)=Cdlgn, 2) + Cdlg2, 7)
End If Cdlg(n+ 1, 3) =Cdlg(n, 3) + Cdlg(2, 7) * Cdlg(2, 8)
Loop Whilef =0 Cdlgn+1,4)=Cdlgn, 4
k=Cdlg5, 8)
f=0 If (n-2* k<3) Then
Do Cdlgn, 11) = Cdlg(2, 3)
n=n+1 Else
GoSJbEmono Cdlgn, 11) = Cdlg(n, 3) + ((Cdlg(n, 3) - Celgn-k, 3)) »
dx=Cdlgn+1,3)-Cdlsgn+1,5) 2)/ (Cdlgn-k, 3) - Cdlgn-2* k, 3))
dx=Cdlgn+1,6)-Cdign+1,4) End If
If(dx<—0Anddy<_O)Then
nd f Cdlgn,12) =Cdign+1, 4)
Endl
Loop Whilef=0 a=(Cdlqn, 11) - Cdlg(n,5) " 2

b=(Cdlqn, 12) - Cdlg(n, 6)) * 2
c=a+b

Cdlgn+1,5) =Cdlgn, 5) +((Ce||s(nC(]d_’P 2Cglls/(n 5) *
Cdign+ 1, 6) = Cdlgn, 6) +S§CeI7R qn, 1ZS( Ce)l r?qé%)*
e Cdlg2,7)* Cells(2 9) / Sr(c)
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